Consider kite WXYZ.
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a. W meWZT = 55° and meWXY = 30°, find meZWX.

D. fWZ=8and WT =5, find ZT.
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4. Consider isosceles trapezoids TRAP and FRED.
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Find m, n, m&PTR, m£PAR, and FD.
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2.

A diagonal of a rhombus that is on the coordinate plane
can be modeled by the equation 6x + y = 13. What is the
pf the other diagonal? = o

(ox+5=t3 mn =
+&

In rhombws HIJK m*_H I5 Iii.l DE}ES the diagonal H] dwvide
the rhombus into two equilateral inangless Justify your

answer, g@g
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3. The size of the acute angle of a rhombus is half the size of
its obtuse angle. The side length of the rhombus is equal to
20 feet. Find the lengths of the diagonals of the rhombus.
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ZACH is an isosceles trapezoid with midsegment MN.
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Determine the length of MN. ; -f‘ Q 69




